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1. System Testing Plan(T1/T6)

Input Specification Output Specification
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2. System Testing Result T1
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840 K postystem.exe QIRAVCpl64exe 3620 A F Realtek HD 2C|2 ZH2[X}

[ ONEMOTEM.EXE 9384
# | oravssw.exe

.
.e
.
.
.
.
"
.
.e
.
.
"
.
.e
.
.
"
.
.e
# =
EES
EES

[ B T

1248




2. System Testing Result T6

@ Test Case — FAIL [EA 7| A|AE!I MY X 0]

HEAT| ZRMAQL ZAT| AA ZRMAZ} MMED TA
7| MAl= 5E MAFEH 0|0F

rad
rdo

B

rim

(=1
=

POS_STC_000.001

—
e

ool

v ZEAT| HQl ZENATL F0 LA CRA| AMFS I Z27] A|A7F S8 AZHEE SEX] ft
ARFE AM2HE AZHa S 7|=HEl L.

Lo




2. System Testing Result T6

@ Test Case — PASS [7HM s}H =

Touch Screen

|
| SALE[O] REFUND[1] STOCK[2] TERMINATE[3]

| command:

|

2|
2

]

& = i
| Touch Screen
-

amount : 402000

|

|

|

|

| product name count
| snack 10

| ice-cream 20

| fruit 30

| water 500 40

| ramen 800 50

| drink 60

| coffee 70
- 000 000000000 ww 0000

| ADD[+] MINUS[-] BARCODE [code]
e - 0000000 - 000

| command: |

|**help** : if you stop this action, enter 'quit’



2. System Testing Result T6

@ Test Case - PASS [7HM 2lH =]

-

Touch Screen | Touch 5creen
| —————,

1 402000 date : 2017.11.20.10.42

|
: 402000 I
| -
product name price count | product name price volume
snack 1000 10 | snack 1000
ice-cream 1500 20 | ice-cream 1500
fruit 3000 30 [fruit 3000
water 500 40 |water 500
ramen 800 50 | ramen 800
drink 1200 60 |[drink 1200
coffee 2000 70 |coffee 2000
I ———————, Y |

| SALE[0] REFUND[1] STOCK[2] TERMINATE[3] | SALE[O] REFUND[1] STOCK[2] TERMINATE[3]
-

| command: | | command:




2. System Testing Result T6

@ Test Case - PASS [7HM 2lH =]

| Touch Screen

| receipt code : 201711202246

|date : 2017.11.20

|product list - refund

| refund : 402000

| product name price count
| snack 1000 10

| ice-cream 1500 20

[ fruit 3000 30

| water 500 40

| ramen 800 50

[ drink 1200 60

| coffee 2000 70
Y |

| sALE[0] REFUND[1] STOCK[2] TERMINATE[3]

| command: |




2. System Testing Result T6

@ Test Case — PASS [11 78 S}H =2i]

| Customer 5creen Customer Screen

amount : 402000 |amount : 402000

[money : 402000
|change : 0

|
|
|
| |
I PdeECt name | product name count
snack | snack
| ice-cream | ice—cream
.- gl
water
| EBWEE | ramen
I TNk | drink
|

coffee coffee
L | s S || . A ... . -




2. System Testing Result T6

@ Test Case — PASS [11 7 5}H =

| Customer Screen

|amount : 7500
|money : 8000
|change : 500

|

| product name
| snack

| ice-cream

| water

| coffee

|

|

|

S —

Customer Screen

|receipt code : 201711201542
|date : 2017.11.20

|product Tist - refund
|refund : 7500

| product name
| snack

| ice-cream

| water

| coffee

|

|

TS EEEEEES————————



2. System Testing Result T6

@ Test Case — PASS [EtOf]

| Touch Screen
I
I
I
I
I
I
I
I
I
I
I
I

IBSSS——————————————————————————
| ADD[+] MINUS[-] BARCODE [code]

| command: |
| [ERROR] Invalid value

|**help** : if you stop this action, enter 'quit’
ARETT T FOAARER Misas SR aael

e —
| Touch Screen
-

amount : 180000

I

I

I

I

| product name price count
| ramen 800 50

| coffee 2000 70
I

I

I

I

I

——————————————————————————————————————
| ADD[+] MINUS[-] BARCODE [code]

| command: |
| [ERROR] Invalid value
|**help** : if you stop this action, enter 'quit’



2. System Testing Result T6

@ Test Case — PASS [ZHE]

| Touch Screen

|receipt code : 201711200631

|date : 2017.11.20

|product list - refund

|refund : 10000

| product name price
| snack 1000
| ice-cream 1500
| fruit 3000
| water 500

| ramen 800

| drink 1200
| coffee 2000
o -

|  SALE[0] REFUNDI[1] STOCK[2] TERMINATE[3]
| command: |

- (1

e
| Touch Screen

g s
|receipt code : 201711200631

|date : 2017.11.20

|product list - refund

|refund : 10000

| product name price

| snack 1000

| ice-cream 1500

| fruit 3000

| water 500

| ramen 800

| drink 1200

| coffee 2000
-

| SALE[0] REFUND[1] STOCK[2] TERMINATE[3]

| command: |
| [ERROR] Invalid value

BRI



2. System Testing Result T6

@ Test Case — PASS [ZHE]

| Touch Screen

| receipt code : 201711202246

|date : 2017.11.20

|product list - refund

| refund : 402000

| product name price count
| snack 1000 10

| ice-cream 1500 20

[ fruit 3000 30

| water 500 40

| ramen 800 50

[ drink 1200 60

| coffee 2000 70
-

|  sALE[0] REFUND[1] STOCK[2] TERMINATE[3]
| command: |

e EE——————,

o BHEE MAO) 2V ESEH)
tpmduct] [price]
snack 1000
ice-cream 1500
fruit 3000
water 500
ramen 800
drink 1200
coffee 2000
total sales - 412000
total refund - 412000

[velume]
100
100
100
100
100
100
100




2. System Testing Result T6

@ Test Case — PASS [0 =9l

Touch Screen

¢ 2017.11.20.10.42

product name price volume
1000
|ice-cream 1500
[fruit 3000
|water 500
| ramen 800
|drink 1200
|coffee 2000
-

SALE[0] REFUND[1] STOCK[2] TERMINATE[3]

| command: |

]

oelr | JHEE | MA0) B7Iv E2E(H)

tproduct]

snack
ice-cream

fruit

water

ramen

drink

coffee

total sales - 17500
total refund - 0

[price]
1000
1500
3000
500
800
1200
2000

[volume]
26
8
??
g7
99
g9
28




2. System Testing Result T6

@ Test Case — FAIL [ 4H

ZAI| MAZ ChE SRt EIS

- — (0] 3% EE|_|E7 E¢E|7=|‘IE§!-|_I'6I-
%QI'EO'" iﬁ7|§ le I'H 'I | '“ o EJ-I' =

POS_STC_006.000

| settle_20171120.bct Eif A A KB 2017-11-19 2=

| settle 2017112 1.0ct 5 KB 2017-11-19
| settle 20171122.tct

2

| 12 2E[0{A HHOIE
X2k = 2tHo| M =Y 7|
} o] A= input =
‘g0] =O{ZIC}.

v ZAT| MA- ANAZ Mg
EICt J2{Lt O 0|22 L= 38
E input 2 27| IfZ2 0
2 S50 Ho{7IHE|H Fitn

R L
1314 YH0|E &= A ol
ZIEIC} = 22202 9l

I.OI

22 Lol Cig At

H
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= H1J )I“ mlo
fot

b A
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2. System Testing Result T6

@ Test Case — FAIL [T} AH/M

tsale record]
11 code |l amount || money || change ||
201711222028 116000 120000 4000

[list] snack(0) ice-cream(0) fruit{0) water{0) ramen(20) drink(0) coffee(50)

2001711221524 7500 8000 500
[list] snack(3) ice-cream(1) fruit{0) water(2) ramen(0) drink{0) coffee(1)

201711220556 10000 12000 2000
[list] snack(1) ice-cream(1) fruit(1) water(1) ramen(1) drink(1) coffee(1)

201711200444 7500 7500 0
[list] smack(3) ice-cream(1) fruit{0) water(2) ramen(Q) drink(0) coffee(1)

201711200244 10000 12000 2000

[list] snack(1) ice-cream({1) fruit{1) water(1) ramen({1) drink(1) coffee(1)

[refund record]




2. System Testing Result T6

@ Test Case — PASS [II} AHM)

o

refund_201711241020.txt - I 2%

3

sale_ 201711222028 txt - O 22

qer BEE MAO) BV E2EH)

oER BEE ANO) B2V ESEH)

receipt code © 2017.11.22.20.28

date : 2017.11.24

refund product list

[prdouct name] [price]  [count]
ramen 800 20
coffee 2000 50
refund amount = 116000

E| refund_201711232140.txt - M 2%
oeE B2EE MY BV ESEH)

receipt code - 2017.11.22.15.24

date - 2017.11.23

refund product list

[prdouct name] [price]  [count]
snack 1000 3
ice-cream 1500 1
water 500 2
coffee 2000 1
refund amount - 7500

oE HIGE MY0O) 2V =ESEH)

receipt code - 2017.11.22.20.28

date : 2017.11.22

sale product list

[prdouct name] [price] [count]
ramen 800 20
coffee 2000 50
sale amount = 116000

3 sale_201711221524.txt - O 2%
ngE HEE MU0 BV EEUH)

receipt code - 2017.11.22.15.24

date - 2017.11.22

sale product list

[prdouct name] [price] [count]
snack 1000 3
ice-cream 1500 1
water 500 2
coffee 2000 1

sale amount - 7500

3 sale_201711220556.txt - O 272

TLoln ﬁx\: HHH‘ =il = Re [T

}ece'{pt code - 2017.11.22.05.56
date : 2017.11.23

refund product list

[prdouct name] [price]  [count]
snack 1000 1
ice-cream 1500 1
fruit 3000 1
water 500 1
ramen 800 1
drink 1200 1
coffee 2000 1
refund amount - 10000

receipt code - 2017.11.22.05.56
date - 2017.11.22

sale product list

[prdouct name] [price] [count]
snack 1000 1
ice-cream 1500 1
fruit 3000
water 500

ramen

drink

coffee

sale amount - 10000




2. System Testing Result T6

@ Test Case — PASS [Ii}

| 20171119_product.bxt
| 20171119_sale_management.txt
| 20171120_product.txt
| 20171120_sale_management.ixt
| 20171121 _product.txt
| 20171121 _sale_management.txt
| 20171122_product.txt
| 20171122_sale_management.txt

L]

2@ | ®HEE MU0 H7v E8%H)
tproduct] [price]
snack 1000
ice-cream 1500
fruit 3000
water 500
ramen 800
drink 1200
coffee 2000
total sales - 17500
total refund : 0

Ao /o Ao Aa

Ho Ao Ao | Ao

[volume]
26
98
o9
97
9
o9
28

Ol AHA]

S 3l

2017-11-19
2017-11-19
2017-11-19 £
2017-11-19 2
2017-11-19 2% 9:3
2017-11-19 2% 9:37
2017-11-19 2% 9:37

3

[product]
snack
ice-cream
fruit
water
ramen
drink
coffee

total sales : 0

total refund : O

[price]
1000
1500
3000
500
800
1200
2000

20171121_product.txt - 0| 2%
ot EHIAE M0 27V E2H)

[code]
001
010
011
100
101
110
111

[volume]
100
100
100
100
100
100
100




2. System Testing Result T6
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